
Sample Papers Quantitative Aptitude –

Number System
Decimal
Fractions
Average
Ratio and Proportions
Profit and Loss
HCF & LCM
Time And Work
Simple Interest etc.

What least number must be added to 859622, to get a number exactly divisible by 456?

The ratio between two numbers is 4:5 and their sum is 540. The greater of the two numbers is?

3 1/4 of a number subtracted from 1/3 of the number gives 12. The Number is :

Three fifth of one fourth of a number is 90. The number is?

The sum of two numbers is 60 and their difference is 43 .The difference of there square is?

The ratio between the present ages of P and Q is 6 : 7. If Q is 4 years old than P. What will be the 
ratio of the ages of P and Q after 4 years?

The Average age of a class of 22 students in 21 years. The average increases by 1 when the 
teacher’s age also included. What is the age of the teacher?


